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QUESTION 1

In your organization the following tools of the same vendor are currently in use: a requirements management tool, a test
management tool and a bug tracking tool. 

You are the Test Manager. 

You are currently evaluating a test automation tool of the same vendor (to complete the vendor\\'s tool suite) against an
interesting open-source test automation tool under the GNU GPL (General Public License). 

There are no initial costs associated to that open-source tool. 

Which of the following statements associated to the selection of the open-source tool is correct in this scenario? 

A. The open-source tool can be modified but only if the community of developers of that tool gives you the formal
permission to modify it. 

B. There are no initial costs for the open-source tool but you should carefully consider the costs associated to the
integration with the existing tools and also evaluate the recurring costs. 

C. There are no initial costs for the open-source tool because open-source tools are usually low-quality, while vendor
tools have always a better quality than the corresponding open-source tools. 

D. The open-source tool can be modified but it can\\'t be distributed further in any way. 

Correct Answer: B 

 

QUESTION 2

An agile development team decides to hire a tester who has always worked: 

in independent test teams, reporting the problems found in a defect tracking system 

in safety-critical projects, with a stronger focus on the quality of the product than on time and budget. 

This agile team is focused on short-term goals to get the product released on time and within budget. 

Which of the following answers would you expect to be most likely true in this scenario? 

A. Agile teams like the presence of a tester in their teams and the tester will be able to adapt to the new context without
any issue. 

B. The developers will immediately follow the guidelines described by the tester. 

C. The tester can continue to report the problems found in a defect tracking system and be more focused on the quality
than on time and budget constraints. 

D. The tester\\'s mission could be to verify adherence to requirements, instead of reporting formally the problems in a
defect tracking system. 

Correct Answer: D 
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QUESTION 3

After the presentation, you are asked to explain the chart. Assume you have applied a full risk-based testing strategy. 

Which of the following answers would you expect to best describe the pie chart? 

A. All the risk items have been covered with tests. No more risk items remain to test. 

B. According to the full risk-based testing strategy applied, it is very likely that the highest-risk items, tests and bugs
remain in the blue and red areas. Therefore, it is very risky to release the application. 

C. Only the lowest-risk items, tests and bugs should remain in the blue and red areas. Therefore, the application can be
released at any time subject to management of the items identified in those areas. 

D. 97 percent of the risk items has been tested. No open bugs or test failures remain. Only 3 percent of risk items
remains to be covered by the remaining test. 

Correct Answer: C 

 

QUESTION 4

The following is the unique "critical" quality risk item that has been identified: 

CR-RSK-1. The GUI of the application might accept non-integer values for the input field designed to get the number of
bottles from the user. 

Test analysis for system testing has just begun and the following test conditions have been identified: 

TC-SEL-2. Test the selection of the package sizes TC-SEL-4. Test wrong numbers of bottles for an order TC-CR-
RSK-1. Test the accepted values from the input field designed to get the number of bottles from the user 
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What is the MINIMUM number of test conditions that must be added to fulfill both the EXCR1 and EXCR2 exit criteria? 

A. 4 

B. 3 

C. 2 

D. 1 

Correct Answer: A 

 

QUESTION 5

The following is the unique "critical" quality risk item that has been identified: 

CR-RSK-1. The GUI of the application might accept non-integer values for the input field designed to get the number of
bottles from the user. 

Test analysis for system testing has just begun and the following test conditions have been identified: 

TC-SEL-2. Test the selection of the package sizes TC-SEL-4. Test wrong numbers of bottles for an order TC-CR-
RSK-1. Test the accepted values from the input field designed to get the number of bottles from the user 

Assume that you have used traceability to determine the logical test cases that cover all the requirements and the single
risk item identified in that scenario. 

Which of the following is a positive logical test that is complete and correct, and covers the REQ-SEL-4 requirement? 

A. Select a 6-bottles package, then try to insert 5 bottles; verify that no error messages are displayed. 

B. Select a 6-bottles package, then try to insert 7 bottles; verify that no error messages are displayed. 

C. Select a 6-bottles package, then try to insert 7 bottles; verify that the "Invalid number of bottles" message is
displayed. 

D. Select a 6-bottles package, then try to insert 7 bottles. 

Correct Answer: C 
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